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Unit 4 Pretest Review
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1) Use finite differences to classify each relationship as linear, quadratic, or neither.

a)
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2) State the direction of opening and y-intercept of the given quadratic, then make a table of values and
sketch the graph to verify.

a)y =—-2x%+4x -3

b)y =x%—6x+2
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3) Complete the table of properties for each quadratic

a)y = 2(x — 3)? b)y=-3(x+5)?%-1
Vertex (2 )Cﬂ Vertex (_ 5 - \)
)
Axis of Symmetry Y = 3 Axis of Symmetry A= - 6
Direction of Direction of
Opening Uz/D Opening Dewn
Values x may Values x may %
take (domain) % XE VR % take (domain) Xt ”3%
Values y may Values y may
take (range) gYE(R ' Lj? O% take (range) EYOR | Y= —Ig
Cd
y=2x247 = L(x-0) + ] dy=—-(x-2)?+4
Vertex (o )—7> Vertex (2, L{)
Axis of Symmetry v =0 Axis of Symmetry 74 =2
Direction of Direction of
W
Opening UIO Opening Dovwn
Values x may Values x may
take (domain) % XE K% take (domain) %Y < )R%
Values y may Values y may
take (range) EYEVR | W= 7% take (range) %YEYP\I Ljéqz

4) The graph of y = x? is compressed vertically by a factor of 1/2, reflected vertically in the x-axis, and then
translated 3 units down and 1 unit right. Write the equation of the parabola.

—
A= ~g 1
\(\:] 3:“}3\<ﬂ<—]) —3
h="-3%
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5) Write an equation for the parabola with vertex at (—5,‘1%, opening upward, and with a vertical stretch by a
factor of 4.

o =Y
= -5 ~ Y (xrs)
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6) For each of the following functions, i) describe the transformations compared to y = x?2,
ii) complete the table of properties, iii) graph the function by making a table of values

a)y=;(x=3)* 7

Transformations: 1
o \)Eir’(i(;?u\ Comprosﬂor\ BU) (o Cacyes of ‘[1

o NP righe D LTS
e iy down T univg

A
Vertex
(% 3“/7) X y \\
Axis of Symmetry V=73 ( _L \
Direction of U o \Q
Opening E \
Values x may E R % 5 ’7 5 5 4 3\ 40
take (domain) Xel gy |-6s19
Values y may N
take (range) %‘, R\ U ’7% 5 a
J
a)y =—-2(x+1)?%*+9
Transformations: 5

s Jetica) Swekcdn by & Fackor ot

a erica) refectton n Yhe K- a3

) 5\\\‘?‘\’ ey 1 W\\\*

o NFY up & uniTs
Vertex (J\ | CT} x y %
Axis of Symmetry _ \ -3 \ / NA\

- / . \
Direction of -3 | 7] / 3
Opening Down | q
Values x may - RN I I )
take (domain) %X Eﬂi% @) 7 ,f \\
Values y may [ \
take (range) E\JEVK \ L’\5 Q{% \ \ / \
[






























































7) Determine the vertex form equation of each of the following quadratic functions.

a) yA

I

'S o (WK

NozalR-EATE A

Z\0 = o L T
_

/ T\ _la= 26 N7 ”3(7(*33 ok

-l
R s §
/ o -H 36

o -1

O\.ZB

N o

N

A

<Y

N

o
N
-

—
D

b)

IR
=
=

3: LS (%) . L{

8) The height, h meters, of a batted baseball as a function of the time, t seconds, since the ball was hit can be
modelled by the function h = —2.1(t — 2.4)? + 13

a) What was the max height of the ball?
1% meders,

b) What was its height when it was hit, to the nearest tenth of a meter?
s
=0\ (02 +12
N =0 fT a













































c) How many seconds after it was hit did the ball hit the ground, to the nearest tenth of a second?

O~ 2o\ (E-2.9) 412

LY+ 2 =t
t ~ 49 52&01/\0!5
d) What was the height of the ball, to the nearest tenth of a meter, 1 second after it was hit?
W 2del (C1mR) (3
W2 B M

9) A touch football quarterback passed the ball to a receiver 40 meters downfield. The path of the ball can be
described by the function h = —0.01(d — 20)? + 6, where h is the height of the ball in meters, and d is the
horizontal distance of the ball from the quarterback in meters.

a) What was the max height of the ball?

5~

b) What was the horizontal distance of the ball from the quarterback at its max height?
2O WA

c) What was the height of the ball when it was thrown? When it was caught?

Teen Cataler

= —o-O\Qoww\a v6 \~ = ~0-0\ (Yo-30) &

\(\: L \hv“;l/v\

d) If a defensive back was 2 meters in front of the receiver, how far was the defensive back from the
guarterback?

BN



































e) How high would the defensive back have needed to reach to knock down the pass?

W= -0l (33-20) x5
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10) Rewrite each relation in the form y = a(x — h)? + k by completing the square. Then state the vertex and

if it is a max or min point.
a)y =x%+6x
9= (10 v6x)
0= (A v Gx +a-9)
U\B: chl\_éoc '\'qj _O(

gerkex % (F3,-9) s M,

c)y=-3x2—-12x+7
= (-3 )+ 7
o= 2Py )+
4= St )
= ) Ly%mw) L7

4= 2 () v 19

Verkex (-3411) 1% o Max,

b)y = x? —10x + 15

W= (@-10x ) ¥ 15
\’3: (A* =10 95 -25) +\5
UB: (- \O% ¥3-5) -5 %15
A= (-5 10

Uertex (5,-10) 1% o Min.

d)y = ;x% — 6x — 22
= (g ) -3
Wz g et -as
Yz g (F 3ty - 1) 3
N ?'q(y Ay k) - 3¢-2.2

Y= g (v-12)" -5

U ey ((%—6%) 14 o MIA.















































11) For each of the following functions, i) convert to vertex form by completing the square,
ii) complete the table of properties, iii) graph the function by making a table of values

a)y=2x?>+4x—1
C:): (;ﬁ(l\fL{%)——

\

42 (1 32) -\
Y= ;L(J/)(g‘{—l/)di‘l“l\-’\
g:a(«‘*@wl) x|

b= 3 () =73
Vertex (”l )¢3>
Axis of Symmet
y ry A e |
Direction of
Opening MID

Values x may
take (domain)

ENERS

ol 4 N © & o0 o N ® © B

Values y may
take (range)

BleR | 4233

b) y = —3x?% — 24x — 40
W= (3% -2y —Ho
= -3 ) - Ho
Rt (AP + % 6 \G /lé) e

X - 3 (dc‘tsrmlrkq F] UG

EE () +

0 9 8 7 6 5 4 3

Tt

{12345678910

S o b N &5 &

=)

Vertex (, Y )%\)
Axis of Symmetry . "f
Direction of

Opening Dowwon
Values x may

take (domain) %XER%

Values y may
take (range)

SARERT

x y
-3 5
_3\ _]
-1 -3
Q | -
)
x y
— ¢ Y
-5 1 5
4] <
_3 5
- | -y

-0 9 8 -7 6 5 4 -3 |2

=]

1 2 3 4 5 6 7 8 9 10

b b N & & A b b Lol 4N e s o e N e o
















































12) The path of a basketball shot can be modelled by the equation h = —0.09d? + 0.9d + 2, where h is the
height of the ball in meters, and d is the horizontal distance of the ball from the player in meters.

a) What is the max height reached by the ball?

h = (=0.09d% + 0.9d) + 2

h =-0.09(d? — 10d) + 2

h =—-0.09(d? — 10d + 25 — 25) + 2

h =-0.09(d? — 10d + 25) + 2.25+ 2
h =-0.09(d — 5)% + 4.25

The vertex (5, 4.25) is a maximum point.

Therefore, the maximum height is 4.25 meters.

b) What is the horizontal distance of the ball from the player when it reaches its max height?

6/\/\61@’5

c) How far from the floor is the ball when the player releases it?

N = -0.09 (o) +0.9(0) +
\/\ - Q\/v\













13) Given the following quadratic equations, determine the i) x-intercepts using the zero product rule, ii) the
axis of symmedtry, iii) the vertex iv) graph the quadratic

aAy=(x+6)(x—2)

D 0= (x)(1-3)
NXE =Q
K=-6

(-6,2)

% _'Q\'a
\\) oot K= 3.
X-2L O

=3
Yo x
(2)0)

‘l'lD W -vervex = —a-
W-vertex = - |6

(‘3)’]6>

b)y = —%x(x— 6)

D o= ¥ (u-¢)

H) aose A= 0t6
A

L
wK-620

X =73

(02

=6
(6)0)

i) X-Uertex =3

Yovertex = “5(3)(376) = U5

4 16 18 20

(3,45)

c)y=2(x+7)(x+3)

) 0=am 7))

(-
i) aosr ¥ = LEE3)
K¥l =20

PN
K+3=D

K=-")

% =75
x=-3

LD

7, O\

(-3,0)

) x-vexrey = -5

Tt

T

uyuer‘\@( =-%

|

(-5,-% )




































































14) Determine the factored form equation of each of the following quadratic functions.

a) [ BEERE T ] 6:&¢3<—u—)(7<-—5)

| RREE | g:o&[&c—lj](G—%)
E | | | 3:&(@)(3—)

\ ) [ -

A BT |
» ) :_/(QH C//K_%

SEEL N EIY ) g

_; ak

b
) 4= g~ )x-5)

Y- (’5‘93(3‘51)

9 - a(3) (1)

A= e ﬂ:*?’%@é—q)
3-s

a=-3

r
15) A parabola has x-intercepts —3 and

factored form.

LS = o= )(r-S)

L=a [-4- 3 (-4-2)
1= a (“l}(‘é)
A= Ca

ESS
S
o

) X
2, and has vertex (—4,2). Determine the equation of this parabola in

3: L} (X*’%)C%“QQ

A

W=























16) For each quadratic function, determine the x-intercepts and the vertex.

a)y=x>+6x+8 LXE_‘L

o = () (xry)

XX O x-\—q-;(-b
’3(.5—& /}(:_L,{

A AR 2 (-35,9) anch [—L{,OD

_ 2w
J)C"Uf'lr"\'{}?— /-a’:\ ,__,—g

stuer\‘@( = (3P +6(-3)+8 = |

\}Ql‘\—ex % (—7_,)_, lj

b)y=4x>—12x+5 0w -3 =30
“O4-a -3

kj“— PP —10x - A +5
Y= (22 -5)-] @’%“SJ

0 =(Ax-5)(2x -1)

-5z dr-1=0O
=5 x|
> S L
> 7(-"@\

HK
x

W

/X_,‘]f/\')l'i 69\06)0) a\/\ol CO,S) O>

5 x5
Koveriey = 25— 215

W-Veex = 41 o1l 145) vg =t

vertex 2 (1.5, -4)


















































